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Plotting the graph on Excel for the lab Bowling Ball
Mr Keefer
1.  Open the program Excel7.

Graph of Energy in Joules (y-axis) vs Distance Fallen in meters

2.  Across the top Row, enter: h fallen, K, U, ME

3.  In column A, type in the distance in intervals of 0.5 meters starting with zero and ending with the total distance.

4.  In Column B, add the cell formula for calculating total kinetic energy:

=0.5*m*(vx^2)+(m*9.8)*A2

where m is the mass of the ball in kg and v is the initial horizontal velocity.

5.  In Column C, add the cell formula for calculating total gravitational potential energy based on height above the ground.

=m*9.804*(h-A2)

where h is the height from which the ball was thrown.

6.  In Column D, sum the two energies;

=B2+C2

7.  Copy each formula and Paste it down the column as needed.

8.  Using the left mouse button (LMB), darken in the appropriate data.

9.  LMB Click the chart icon.

10.  Choose the XY (Scatter) graph and click on the top sample without the lines.   At this point you can choose APress and hold to view sample.@
11.  LMB Click NEXT, then NEXT again.

12.  Enter your graph=s name, and label the x and y axes with proper units.

13.  LMB Click NEXT.  LMB Click FINISH.

14.  Adjust the size of your graph using the outline boxes.

15.  Using the right mouse button (RMB), click exactly on one of the data points.

16.  LMB Click ADD TRENDLINE...LINEAR.

17.  LMB Click the PRINT icon and pick up your graph at the printer.

Energy in Joules (y-axis) vs Time in seconds
18.  Across the top row, enter: time, K, U, ME.

19.  In column A, type in the time intervals of 0.1. seconds starting with zero and ending with the total time.20.  In column B, add the cell formula calculating total kinetic energy based on time in flight.                                                                    =0.5*m*(v^2)+(m*9.804*(0.5*9.804*(A2^2)))

21.  In column C, add the cell formula for calculating total gravitational potential energy based on height above the ground. 


=m*9.804(h-(0.5*9.804(A2^2)))

22.  In Column D, sum the two energies;

=B2+C2

23 Repeat Steps 7-17, except replace the latter part of Step 16 with FORMAT DATA SERIES... CUSTOM... SMOOTHED LINE.

24.  Be sure your name is on the graph before printing.

